Paraphrasing Exercise
ORIGINAL

"Advancements in medical technology have revolutionized healthcare delivery, improving patient outcomes and reducing mortality rates. Modern medical devices and procedures have become essential tools in diagnosing and treating diseases, leading to longer and healthier lives for many individuals. From the development of sophisticated imaging techniques that aid in early disease detection to the use of minimally invasive surgical procedures that shorten recovery times, medical innovations continue to push the boundaries of what is possible in healthcare. These advancements not only enhance the quality of life for patients but also contribute to the overall efficiency and effectiveness of healthcare systems worldwide."

Two paraphrasing attempts:
#1
· Medical technology has transformed healthcare by improving patient outcomes and reducing mortality rates. Modern medical devices and procedures are crucial in diagnosing and treating diseases, contributing to longer and healthier lives for many people. Healthcare has improved through the development of advanced imaging techniques for early disease detection and using minimally invasive surgeries to shorten recovery times. These innovations not only enhance patient quality of life but also improve the efficiency and effectiveness of healthcare systems globally.
#2
· The landscape of healthcare has undergone a profound transformation due to the rapid progress in medical technology. These advancements have significantly elevated patient care, resulting in notable improvements in health outcomes and a substantial decline in mortality rates. Contemporary medical innovations, such as state-of-the-art diagnostic tools and advanced treatment methods, play a pivotal role in disease management, fostering longevity and well-being across diverse patient populations (Smith 23).

Which one is better? Why?

What makes one of them unacceptable (i.e., plagiarized)?
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What makes the other one acceptable?
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